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4.28 = |+ |+ |
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9.31 =| |+ |+ |
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@ 0.9,0.3,0.1 ® 0.9,0.03,0.01

9.31=9+0.3+0.01
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0.014 AA AL 54T
A [ ]=2013+0.01 = 0.023
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a4 A A= o =A7F 14 AR
whebd WA [ | 3.471 +0.01 = 3.4810] 1
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2.076 7} 2.078 2] x}0]7}0.002 0] 22 0.001 4 FHolAl APt
AR [ | =2.076 + 0.001 = 2.077

SHA [ ]=2.078+ 0.001 = 2.079




@ 6.540,6.543 @ 6.541,6.544 ® 6.542,6.545

@6.543, 6.545 ® 6.544,6.546

& 20} Ant4 Afol7} =] Am B,
— 0.0014 #AA 2 QlF YTt
AR [ ] = 6542+ 0.001 = 6.543

=R [ ] = 6544+ 0.001 = 6.545
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(1) 0.78 = 0.17

(2) 0.48 - 0.23
© (1) 059 (2) 0.225

@ (1) 0.6 (2) 0.95
® (1) 0.62 (2) 0.35

(1) 0.78 = 0.17 = 0.61
(2) 0.48 - 0.23 = 0.25
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140.7cm 157cm  146cm 139 cm
127cm 143.2cm 152.8cm 129.1cm
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2654 = ]+06+[ ___ |+0.004

@ 2.05 @)2.0.05 ® 2,0.005

@ 2,0.55 ® 2,0.055

2.654 = 2 + 0.6 + 0.05 + 0.004
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4.892 + 2.17 = 7.062
7.062 < 7.00_J1

[ Je6EctE sxolng 7,8, 90|t
whebA] 748 +9 =24
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g2ol9] 7 FAE 2685g 1L, ngole] 7B FA= 2.835kg
Ayt F AR bS] ALl 1 @, ¢ =20 0.01kg
Q1 22 el B IF AUHEA] oA e

2685 g = 2000 g + 685 g = 2kg + 0.685kg = 2.685 kg

(F AFES] 71 BA)=(8-2019] 7hE FA)+(r1 G el 2] 7HE
A)

= 2.685 + 2.835 = 5.52( kg)

552 0.01°] 552¢1 Fo]B &2 Zre 1-To] 5527t AUt}
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> HE D 5.252kg

LB ,
93] 2827 : 32.5kg
F70]o] B : 32.5 - 2.462 = 30.038( kg)
Aol BEA 1 325 + 2.79 = 35.29( kg)
(Aa F5FA)-(7 019 &FA)

= 35.29 — 30.038 = 5.252( kg)
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